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Question Number : 1 Question Id : 51714411872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A classroom consists of students from diverse cultural backgrounds. How should
a teacher address cultural differences to create an inclusive learning environment?
Select all that apply.
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Options :

Ignore cultural differences to maintain uniformity
| x BEEHSEDH o) FodE Do DETED

Incorporate culturally relevant examples and materials.
%ﬂ@‘%@é D020y GTEETESnen, Hien SrothHdad.

Design assessments that favor a specific cultural group.
(e85 &D@Eﬁé DE0resPEnd Shboshen Brtend JeHd.

Assign group projects exclusively within the same cultural group.
®0 DSrTEnd?, DY éﬁé%ﬂéj Big0.

Question Number : 2 Question Id : 51714411873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



You have a student who consistently struggles with written assignments but excels
in verbal discussions. How can you support this student's learning needs? Select
the best options.
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Options :

Provide only written assignments to improve their skills.
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Allow them to demonstrate understanding through verbal presentations.
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Discourage verbal participation to encourage writing practice.

) Sirgrdonr S tot) DHENTHo (@8 aldnd @i&)eromd.
3.

Assign extra written assignments to enhance their skills.
©80 SEogi) H TDEDHOD 685 (378 © S0y cndirEd

Question Number : 3 Question Id : 51714411874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is a primary advantage of online teaching methods?
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Options :

Reduced flexibility in learning schedules.
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Limited access to resources beyond the classroom.
558 K6 IendHe HEHeH HBHS (HIFH0

Increased accessibility for remote learners.
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Decreased need for active student engagement.
BohEBE DB st SAN ©B380
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Question Number : 4 Question Id : 51714411875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

You're a college student interested in learning new skills beyond your curriculum.
Which platform would be most suitable for you to access a wide range of courses?
wag a8 Beedro Jugd aig0aR8 Jende 58 ol edfbodtomh.
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Options :

Traditional Classroom teaching
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Traditional textbooks
Sro(RmrahE arogod spRseen

Question Number : 5 Question Id : 51714411876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the main principle behind a choice-based education system?
o8 esgrde Doy S’ché'% a’maﬁ%ééo

Options :

A single standardized curriculum for all students
0ol ghetd &8 (@FTrg08Em

Limited options for students to choose from
Dogten JodHE THE0DH H6HBE" KreS od)Een

Allowing students to select courses based on their interests and goals
3 ©d8, ogro HBod Dugiet: 5o dodE THEe

Assigning subjects randomly to students
S]maﬁf_‘gﬂéj SirghRyEorr ANATe Ser000He

Question Number : 6 Question Id : 51714411877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



"Objective” in research means:
"508%5%5 " &8 ma’ggﬁvéaﬁm &R

Options :

Researchers can include personal biases in their findings.
58505 %en @b oty &S el DEarsren 56&5’3&3&
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Research findings are based solely on intuition.
H8805%e6b Kori3D Swggore @0&5&;3&@ eseB it Erom.

Research aims to uncover facts without being influenced by personal feelings
or opinions.
568855 oFgen, 818 graen, wdarairos® Hrdbo sthHom BRSO
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Researchers are free to manipulate data to support their beliefs.
& H88%5Hen a8 Sdysronibibeaonr oreanodel)) BB D ).

Question Number : 7 Question Id : 51714411878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does the post-positivist approach emphasize in terms of research
methodology?
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Options:

Avoiding any form of data collection
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Using only qualitative research methods
riaca'uééé 568555 aﬁge‘_ﬁmﬁ Sa@rAohi

Incorporating multiple methods and perspectives to enhance understanding
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Strictly adhering to predetermined hypotheses without adaptation
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Question Number : 8 Question Id : 51714411879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

What should the introduction of an academic article or thesis accomplish?
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Options :

Present all the research findings in detail
@) HOEED BHreH HHBore IaD.

Provide background information and context for the study
7 ¢ BEEOHTVE JDgEw, DosGdn Board.

Include personal opinions and biases
5818 graren, HFararen Sendaced.

Include a summary of the entire article or thesis
o a5, AR @BwE) Holrisro sowd



Question Number : 9 Question Id : 51714411880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The purpose of the "Introduction” section in a research article is to:
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Options:

Present the results and findings of the study
eigdhdy Hherein, Ehith) 80 wd

Provide an overview of the research methods and procedures
58800 ﬁtgé)eu, [18ahe étwéééﬁ Eoonairg®

Discuss potential limitations of the study
eggohNg Dogry H8hde S8oord

Introduce the research topic, its significance, and research objectives
4 58857 wodo, [Ersnggs, ool egxen doard.

Question Number : 10 Question Id : 51714411881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

What does the term "research methodology" refer to?
HB8%5% ;’}g@ 0P



Options :

The analysis of research results
588> Do DA

The type of paper used for writing research reports
568° e BEEHeD @rohne eH@rAoD sehSE BN

The overall approach and techniques used in the research
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The process of data collection
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Sub-Section Number : 2
Sub-Section Id : 517144485
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714411882 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:
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It was early morning, and the rays of the rising sun had scarcely yet caught the roofs of
the city of Perugia, when along the winding road which led across the plain a man and a
boy walked with steady, purpose like steps towards the town which crowned the hill in
front.

The man was poorly dressed in the common rough clothes of an Umbrian peasant. Hard
work and poverty had bent his shoulders and drawn stern lines upon his face, but there
was a dignity about him which marked him as something above the common working
man.

The little boy who trotted barefoot along by the side of his father had a sweet, serious
little face, but he looked tired and hungry, and scarcely fit for such a long rough walk.
They had started from their home at Castello delle Pieve very early that morning, and the
piece of black bread which had served them for breakfast had been but small. Away in
front stretched that long, white, never-ending road; and the little dusty feet that pattered
so bravely along had to take hurried runs now and again to keep up with the long strides
of the man, while the wistful eyes, which were fixed on that distant town, seemed to
wonder if they would really ever reach their journey end.
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Sub questions

Question Number : 11 Question Id : 51714411883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

One early morning, two people walked towards the town with a
pace.
8.8 Sgarderind alth S D80 JY b,

Options :

faltering
. Stather

slow
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hesitant
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Question Number : 12 Question Id : 51714411884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The older man in rough clothes had a demeanour about him.
et Ged &) Solb DRG0 EOA G

Options:
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decent
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aggressive
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offensive
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Question Number : 13 Question Id : 51714411885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The older man was a by occupation.
©&H S g 900 BOLTL.

Options :

farmer
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teacher
EDED

messenger
tieed

baker



Question Number : 14 Question Id : 51714411886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The phrase ‘wistful eyes’ means
ReEhd BEy' o3 Hood8 ©8o

Options :

thoughtless
&S558

thoughtful
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disappointed
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Question Number : 15 Question Id : 51714411887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



The phrase- ‘the town which crowned the hill in front’ means, the town looks like a
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Question Number : 16 Question Id : 51714411888 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Being during communication with others can build a sense of

trust and respect.
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Options :

genuine
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Question Number : 17 Question Id : 51714411889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

communication is the excess meanings of utterances or
messages received by students without the teacher's awareness.
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procedural
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Question Number : 18 Question Id : 51714411890 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Successful intercultural communication depends greatly, when one

other cultures.
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Question Number : 19 Question Id

: 51714411891 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

barriers are the most obvious barriers in communication that
can be easily resolved.
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Correct Marks : 2 Wrong Marks : 0



Music , television, and films are the forms of media that play an
important role in shaping cultural norms and values.
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Question Number : 21 Question Id : 51714411893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0
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Question Number : 22 Question Id : 51714411894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
LMZ, NYO, XPQ, RSW, ____
Options :
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Question Number : 23 Question Id : 51714411895 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word CABINET =70 and BEAUTY = 60 then
PRODUCTION =

Q0 §6 27165’ CABINET = 70 <08050 BEAUTY = 60 )¢50 &900S
PRODUCTION =

Options :

90

1. %

100

3 % 110

120

Question Number : 24 Question Id : 51714411896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Shashi and Sudha enter into a partnership with equal investments. is the
share of Shashi in the annual profit of Rs. 44,000.
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Options :
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21,000

19,000

Question Number : 25 Question Id : 51714411897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

A profit of 12% is made by selling an article for Rs. 50.40. The cost price of the
article is
2,5 030 ed)ed) .50.408 €9002¢80 T 5T° 12% €7Z50 ICN0D). €3 oIcNo))
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Options :
46

1. %

56.45

3 % 44.35

45

Question Number : 26 Question Id : 51714411898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No
Correct Marks : 2 Wrong Marks : 0

Statements:
Some true are not false.
Some false are not real

o8 edaden:
§R) aen R0 5.
50 022N PO 5%
Conclusions
l. Some real are frue.
Il. Some real are definitely false.
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Options:
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Both | & Il follows.

MNeither | nor |l follows
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Question Number : 27 Question Id : 51714411899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0



In a class, 72 students drink only tea, 50% of the students drink coffee, 25% of
the students drink both tea and coffee and 5% of the students drink neither tea
nor coffee. What is the total strength of the class?
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Options :

160
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Question Number : 28 Question Id : 51714411900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

How is my mother’s sister's only sibling’s father related to me?
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Options :

Father

5, % 4ncle



Father-in-law

Grandfather
4. ¥

Question Number : 29 Question Id : 51714411901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a necessary step when you present an argument
based on inference before the others according to the Classical Indian School of
Logic?
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Options :

1. % Nigamana
5 Upamana

3 % Upanaya

Udaharana

Question Number : 30 Question Id : 51714411902 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Which one of the following expresses Vyapti (relation of invariable
concomitance?

1BoATE3S DA 30 95800 0E (DB0SS DT PS0 TS
Q0D00).

Options :

The relation of invariable concomitance between mountain and fire
DG 8, ey 8 o065 : DBAOHNTA HODOLSN

The relation of invariable concomitance between mountain and smoke
D6 5e8, 8B S08E DEDOHTA) HoDOEO

The relation of invariable concomitance between fire and smoke
eof) §, &Fii50 DG Gad) DoD00

The relation of invariable concomitance between perceiver and the smoke
HIar 0T AE, P18 2068 0T H00L 2r0CTEeD
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Question Numbers : (31 to 35)

Question Label : Comprehension

Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given
below.

HeE: 180 20BN DTG0 eS0T Q. 31 oG Q. 35 (H4) ©O%0
ASrGore) (SPAD0E.

A company has six branches numbered I, I, I, IV, VV and VI located in six different
places. Each branch utilises the telephone services of six different providers A, B,
C. D, E and F. The number of telephone calls made on 28th September 2008,
between 10.00am to 11.00 am between any two different branches were recorded
and are as given in the graphs below. It was also observed that from each branch
there were at least two outgoing calls through each service provider to every other
branch and there were at |east two incoming calls through each service provider
from every other branch.

Calls made through a service provider at any branch can be received through the
same service provider at any other branch.

28 500D et 3855 (BT 1, 11, I, IV, V SHBG50 VI Soa38 530S
e TDEOD DN GO, |Hed 20T A, B, C, D, E 0005 F @& esth 30 550
1Erac6e BOFS VIO GHATFA0THH0EN0D. 28 Drond 20208
&C5A0 10.00 0 11.00 JOLE DA DB® BOR BV LG TP A8
T VOFS T Hopg 850 TOHDE0H HOAW 9 OMS roeeS
2D IN DO GOEFOW. D8 (2700 0BG D8 @3S iy 2.8 3050
IS8 00 EAN0 Bod es9¢3Fanofl *Sen &or) ahd SHBO5L (Hed
2653 TP DO 2,5 D050 1SR Tr o0 Q00 Dok BOEWOR seSew
&) 00 S faodDGB00.

D oSS T 05D BTS30 o0 TS FHON @8 HO5D 136
TP L0° S0 QBE PR T 50050,

Number of Gutgoing calls

60
50
40

a7 4851 47
B 3890, 37 Poaz
30 253056 s | I 28
20
o ] I| !
0
I I Vi

Six Locations

Axis Title

HA BE mC mD mE

Number of incoming calls

a1 42
3837
40 2

42 37 3833 42
31 31 31
278 54 28 27
o
| v

HA BB BC mD ®EE

Sub questions
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What is the maximum number of incoming calls from any single branch received
by any other branch through any single service provider

2 2.8) (2708 DO ONT® o) 8] D05 (B0 T°50° o ASS TP

SN (162 oS ASENON TS ) Do
Note: For this question, discrepancy is found in
guestion/answer. Full Marks is being awarded to

all candidates.

Options :

1. 41

43

45

92
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What is the maximum number of calls made from branch lll to branch V
1200 11l DOA (27701 V8 TS 5O (1) DOWE 2)Oh ?

Options :

127

, % 141

3 % 131

104
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What is the maximum number of calls made through service provider B, from any
one branch to any other branch

D050 (B B0 B 500, B 2.8 (27075 D0 HT 2edE (270158 Td
OO (0s) ODF DO ?

Options :

127

1. %

5 @ 29

36
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If branch VI has received the least number of calls from branches | and |l, then
what is the maximum number of calls received by it from the other given
branches

RPOW VI cDOG (200ew | B0 I 50 e9ed 550)a) SO
2 5500DILONB, BB 20T HOA T8 @0NES) 105 T
QO )OH?

Options :

158

1. %

, % 162
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What is the minimum number of calls made from branch1 through service
provider C to branches Il lll or VI

D05 1FB86 € 50 127051 0B I, Il Bee VI 20005 TR O
SO DOPE OeS

Options :

1.+ 8

10

3 % 12

14
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The process of transferring files from Internet to user computer is called ........
B0600)) $0b SR Boxyhtth pED E8Dohe

Options:

Uploading
o5&&oih



Downloading

5% 0t
2.9

Terminating

Eﬁéﬂﬁoﬁj
3. ®

Mone of the above

. w 23 =08
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Which protocol is commonly used for sending email messages?

3 onen YO rgrdsore e3@rAod [Eretsed 2

Options:

SMTP
1.9

, % HTTP

5 % TCP

FTP
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Digital Initiatives that focuses on the development of open-source software?
L5 R¥G) 536 ©dHBS® G0 Bsbd FEHen?

Options :

e-PG Pathasala
5-58 oo

NPTEL

FOSSEE

None of the above
230 =2

Question Number : 39 Question Id : 51714411912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Information and Communication Technology includes..............
SErerd HHBan o FosdssS” Sob o,

Options :



Online learning
o O8O eTgio

Web Based Learning
3D eprds egrgien

Learning through the use of EDUSAT
QDD TR egEgRien

All of the abhove

Falahny
4. BTG
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RAM is placed on .......
i 80D sohaeh

Options :

Hard Disk

1. %

, x USB

3 Mother board



Extension board
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How many Goals are there in the Sustainable Development Goals?

e @é)&é-ej% @g&@eﬁﬁ o)d)) OFPgen Gow ?

Options :

27

1. %

5 o 17

27

4 u 37

Question Number : 42 Question Id : 51714411915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Name the day that is celebrated as the World Environment Day
(5908 rardter B55N IHED aHHE &P
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June 51

= o

June 6t
pam5 6

June 8t
pamy 8

June 101

4 % a5 10
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Which of the following methods can be used to increase the supply of usable,
good quality water?
& BIHS 8 O ﬁﬁé&* oxoe PSS 03 ﬁjcananéé HB S50

outesm?

Options :

Chlorination
835

Cloud seeding

&
5 26 w&otd



Metallurgy
53%::-@@

Filterisation

o x DEBESD
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How many distinct types of actions are defined as part of Disaster
Management?

D)) DBETes griione &) DY) Ssee Stgen K‘ltﬂéﬁjozﬁe&m&uon.

Options :
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To which Government the Ministry of Environment and Forests is the nodal
agency?
o) (gha=R8 araeiies, ©8) &I}E’J@w:{ SES El}aac"ihﬁﬂ SgarB:n00

Options :

To the State Government
| x TRIESL0E08

To the Central Government
Elelln] EIAVE RS

To United Nations
SnIBE I8y

To Union Territories
e Ohrdahih 86665

Question Number : 46 Question Id : 51714411919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which among the following is the ancient university?
% 1806 7=8° D& FrdS D& Tgechan

Options :

Lalitgiri



5> Malanda

Ratnagiri

Udayagiri
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Ministry of Human Resources Development (MHRD) renamed as....
2R Hdhe &ﬁ@@ Hoo|B&K Ty S°BD 2

Options:

Ministry of Human Development
éﬁéméjéej% S00o(BEy Iy

Ministry of Higher Education

- &8 Doy HoBE] TP

Ministry of Education
oy o|BEy Y

Ministry of Human Capital
85589 shrredid sho(BE T
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Which of the following learning programmes focuses on the study of ancient
Indian scriptures and spiritual practices?

& BN ) g seSEiam, B g8 (Kogren, opgSE eddnon

cﬁe‘ﬁﬁad@&m
Options :

Yoga
e

Architecture
P 3eBE

Pharmacy
apeeD

Commerce
aﬂs%aéa’m
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ElA is stands......
EIA e&Hme



Options :

Environmental Interest Assessment

1. %

Environmental Impact Assessment
2. ¢

Environmental Interaction Assessmen
L Environmental Impact Analysis
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Distance education is not
653063}:‘.55 5906

Options :

Telemetric teaching
|« DODBE B

Distance study

5 % &r8 egigohdo

Work oriented education

3 ¢ Q) esgrdE Dy



De-schooling

& - &pPothd

4. %
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The statement that “public administration serves people from cradle to grave yard” relates
to the
“8he ared (Heod sohodod éé;aueéo S8 DS Eﬁ@e&" w3 T B8 Homododds

Options:

Scope of public administration
- 8380 aroTe FY HO6

Nature of public administration

5 % 538Dy ared Hugran

Tendency of public administration
- g}eﬁaéﬂ@veeﬁ &858

None of the above
23 50D

Question Number : 52 Question Id : 51714411925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which dichotomy has crucially contributed to the emergence of discipline of Public
Administration?

Eghekarome odonTRE o) BgereEn (dichotomy) S:8chHER6?
Options :

FPolitics-Administration
_— arerd —oresd asmen



Value-Fact
Sens —dﬂamﬂgm

Planning-Action
(SEHVEGe -85

Policy —Execution
Al EU“{%E&@D—E}&/)JED
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The word ‘Administration’ is derived from the Latin words ‘ad’ and ‘ministrare’ which
together mean
PO HEHshond ‘@&é&@ﬁﬁ’ o3 solf Hi50 erBS rapsmremd ‘ad &k

‘ministrare’ @3 7 {08 Eﬁﬁtj{]&. & ot Sore @go
Options :

To serve the people
e HHIce

To look after the people
5 % [Sezersh éﬁﬁjéﬂm%’}ﬁ SotHe

To care for the people
3 % o sfidmr Sredhé
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25
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The concept of ‘line and staff’ was borrowed from the
‘B8 @b @';5 e 6 Hod @ﬁéa&ﬁj

Options :

Military administration
OED Srerd

Business administration
;:Dg}éﬂﬁ e

Ecclesiastical (religious) administration
SoEHode e

[

None of the above
DR 50
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Assertion (A): According to Bernard, authority resides in the relationship between a
superior and subordinate and its acceptance by a subordinate.
[8aRSH(A): antrgg Hsbo whsdo &30 é?@l@u&sv&-@émiﬁsvﬂ Soefsd &0% H020rl8

$08050 @brdsd 8 wohEBomdd H020609) Gotnod.

Reason (R): To Barnard, authority is the character of an order in an organization by virtue
of which it is accepted.
e (R): mm&g st ©bs80 @3B el 686y ans) @of\s“tﬁtfbﬂﬁé@ 0860

Codes:
555;3,

Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A)

| (A) B35 (R)Botsr 5BaH0E Hbdn (R) @b (A) @) $BADS HHtes

Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

,x A 80 Both HBEKE 527 (R) @26 (A) GnE) KOG DHes S0t

(A)is true, but (R) is false

- (A) 233 (R) Sy

(A) is false, but (R) is true

(A) 85 (R) 2.3
4. %
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Public administration differs from private administration
Bghdiared (Patn srods® & Dhchos® HZIkob

Options :

in terms of its management structure and process.

| % NEgsTes Dozeasin s0Bain (@(EH DHoHos?

In terms of the amount of political and legal constraints on decision making

DorEBeD 606 Tebad ThBsRN efodhe Didhod®
2.4 % 3 S

In terms of the emphasis on efficiency

3 % N:‘va‘_uﬂgfgo cﬁ:néé @éé@éém 5"%@ Bﬁgéo DHhchost

In terms of none of the above
4 % 2708 T DHcHoS D HPBOS
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In which Article of the Constitution is a provision made for reservations in public services
for Scheduled Castes and Scheduled Tribes?

oresoKo6™) O eB8S [Hsbo ke Seren, ke Bro® i 665w BaR)
D odabron?

Options :

Article 365
| % 365 @B
. ]



Article 315
315 @Qé@

Article 335

, v 385 oBES

Article 375
375 @Qéﬁg
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Which one of the following formed the basis for the Government of India Act, 19197
% (Bob 8 B egbor grod (Sehe Sk, 1919 GrEroBoniod?

Options :

Home Rule Resolution
e Sedy @Uﬂésao

Montagu-Chelmsford Report
SroBrH-35nEEE DH6Y

Administrative Reforms Commission
@&éﬁjﬁzﬁE Barg BAS



Morley-Minto Reform
H°0-80oes® Doses
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All the processes of governing, the institutions, processes and practices through which
issues of common concern are decided and regulated upon are together known as
o) 8570 (240 (HIBabe, Eﬁoé@o S0Bain ﬁé}é& Ra0ge Mo K)gdﬁjvm, Eﬁrﬁaﬁéa’@

B80S artod) ED5 aer dedeb.

Options :
Government

: [ghesso
Politics

5 oresdafmen

Political-economy

3 % Uﬂﬁédﬁj"gé Qaieen

Governance

et To)tmy
4. c\:L ol
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Arrange the following in order of occurrence in a civil sevant's career
a8 ([2ghek ﬁﬁ%ﬁ 15555:‘1 B0 (career) &% 808 ¥ HB[ESr B0y

1. Recruitment 2. Selection
ﬁ@ aJOE
3. Promotion 4. On-boarding
éﬁﬁc‘ﬁ&a 90 —eﬁﬁgoﬁ
Codes:
%E’EJ:
Options :

1.% 1,2,3and4
9 % 1,2, 3and 4

3 1,2, 4and 3

4 % 4 3.2 and 1
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Which one of the following is the latest of theories of public administration?

380ek o TR ?GC{;DETE}@'& 28508 H6?

Options:



New Public Service
ey D28 50D
o

New Public Administration

5 % eSS (4D aed

Classical theory

SlelEvinLlony ?choéaﬁm
3. %

Comparative Public Administration
. SoTEE (Hghes ared
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The Second Minnow Brook Conference was organised by
BeBcH Y (@t SHrRER) Donin DHBE

Options :

Dwight Waldo
&5 8

1. %

George Frederickson
20 (DEBBIR
2.9 e



Rose Mary Ollery
&% b6 486

Peter F Drucker
566 chg. (K86
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In a democratic administration these two go together
(SeseargEingaines FredE? & Botr 50 dotrow

Options :

Delegation and Centralisation
ofseE tedd, Elolaltelr

Centralisation and Competition
SolbEdm,

Leadership and supervision
TPaDEE0, Eﬁ&ﬂ:ﬁé&a

Authority and Responsibility
©fsedo, argge
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Which one of the thinker — concept pair is correctly matched?
Bod Drpos 88 - graide Slos® 28 DO 285008 ?

Options :

Chester |. Banard- Acceptance theory of authority
5@5 0. 2TYD — OIS (EPBH6E Ko eobsed ?ngoéﬁo

1. %
Herbert A. Simon — Decision-making theory
G 2. DS - DPoursdes woroso
3 = E3 [
2. %
Mary Parker Follett — Constructive conflict
&5&6&5 GreeS - e Pl let 2
3. %
All the above
Falatien
4.
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Who discarded the principles of administration as mere proverbs?
Srome Hobiiren B0 Frahde HoBH 5¢ HEBSTHH

Options :

Dwight Waldo
& e

Paul Appleby
, & TS DY)

Herbert A. Simon
a’:mt‘jsjg o). @@5

Chester |. Barnard

4 % SN0 @ 2oRb

Question Number : 66 Question Id : 51714411939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
Who famously said ‘management is a true science’?
QBPes Do a8 TRHD @ @i JHH?
Options :

Socrates
1 % WESS

Luther Gullick

5 % ©PEb KOS



Lyndal Urwick

Do ﬁaE:ucSE

F. W. Taylor
5. tep. Beb
4.+
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Which one of the following is not promoted by globalisation?
Bod sBS° (HH0dE8e BN (B8E)2roSH?

Options :

Nationalisation
aody oueE Beadn

FPrivatisation
BaBEEesm

Liberalisation
558556

Competition
Sola
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The concept of representative bureaucracy is propounded by
@8RG 667N g R [BHBErHODBE

Options :

Woodrow Wilson
&8 denS

George Frederickson
B (36508 05

Donald Kingsley
&S 8oMd

Max Weber
&6y Bwb
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Which one of the following is not a trend in public administration in India now- a-days?
Bod B (}.’ie;be?é&ci‘)ﬂﬂeﬁéﬁ S G5 =206 26?

Options :



Qutsourcing
w5 DByoh (85D D&en)

1. %

Downsizing

, G0 P&oh (8ho))

Privatisation

5 x (@085

Nationalisation
4. e=8orESes
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The Need Hierarchy theory is proposed by
wdore [Bdreiid (36 laileLoih] (8arB0DHH

Options :

Abraham Maslow

1 v oiro Sk

Frederick Herzberg
. E6E rbab

Rensis Likert
BKJJE DEL
3. % e



Douglas Mc.Gregor

4w U5 DOKE
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Match List- | with List- Il by selecting the correct answer code:
8@ B JoDE erdar-  wrdar-ll & adibHib.

List=1 (Writ) List = Il (Meaning)
erfler-| (68) aiee-|| (©Fin)
(a) Mandamus (i) Writ or order by which a higher court reviews a case
tried in a lower court
et e Brhs 8 H68D0D St 968001
53) B BE 688
(b) Quo Warranto (if) Writ directing a sobordinate to stop doing something
that the law prohibits
8 arbotsh ©HTHs8) Jho AaBods Didr) MDchEE
w085 =00 66
(c) Prohibition (iii) Literally means by what warrant
EPerdRR o) (@85088 o) oo
(d) Certiorari (iv) Writ issued by a superior court commanding the
performance of a specified official act or duty
8GR0 28 BB wb0s Stg6 SN, DO &0 Johid
Bt widod 66
Codes:
8%6y;
Options:

(a) - (i) (b)-(iv) (c)-(i) (d)-(ii)

1. %

, x @=(i) (©)-@) (c)-(i) (d)-(v)
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Match List - | with List - II. Select the correct answer from the codes given below:
B 6% S8 Sxirerard) doHER edee-| O erder-ll 8 2dibhSin.

List =1 (Institution) List =1l (Location)
aﬂa"}@v-l{ﬁog 2%) erfae-1(EK550 D)
(a) Lal Bahadur Shastri National Academy of Administration (i) Hyderabad
e 2ftHl T F8HS el 6§ @&é@@ﬁE Figajeraiay
(b) National Police Academy (i) New Delhi
erfich 305 esd g &9
(c) Indian Audit and Accounts Service School (iil) Shimla
506600 ©é¢ woli e ot &a)en S8
(d) Indian Institute of Public Administration (iv) Mussoorie
z0Babs alBar o9 S5 efNREs Ve
Codes:
&°6y;
Options :
. (a)-i, (b)-ii, (c)-iii, (d)-iv
> (@a)-iv, (b)-i, (c)~-iii, (d)~-ii

5 x @-i (D)l ()4 (d)-iv



(@)-iv. (b)-iii, (c)-ii. (d)-i
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Arrange the following in their chronological order by choosing the correct code:
98D B0 QoDHER Bob B HBAD eEINS® DB,

(1) Paul H. Appleby Report (i) Gopalaswamy Ayyangar Report
P& 5. wHéY) Q6K Fiare Jxd woforrd VI6Y
(iif) N.N. Vohra Report (iv) Raja J. Chelliah Report
oHS.0H8. Soe A6 oo 8. 3ok DSOS
Codes:
5%y
Options:
1 s (D (), (i), (iv)
5 % (i), (i), (i), (iv)

3 (i), (D), (iv), (iii)

g s (D (0D, (), i)
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Which one of the following has been a trend in the Union-State relations in India?
8o 7B6° e583506° éo@ﬁ—m@ Homogred’d &%d 067

Options :

Union Government is becoming more powerful vis-a-vis the State Governments
o8 {}.3353@?5&}55 E ) ) SeAaHS [endio FBdodo wHHHH

State Governments are becoming more powerful vis-a-is the Union Government
o OOrQaHa @&5)&%@@9‘5 558 S0 oo (Dghemen $8Soso @)

Financial independence of the States is increasing
) Dﬁ@;t} el '505{5;] Fale a9t STaM
¥ A -

None of the above
238 52D

4, %
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India is a
erSSnEEm el

Options:



Federation
R8org TPesgEm

Unitary State
5 % o8 BolS TrexEw

Confederation

Union of States

E 5 =4
4 GHrEdohe e Eéﬁn}
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Which one of the following is a Post-modern theory of public administration?
8ob A& @tﬁjﬁ]gﬁéiﬁ (Post-modern) (55gbe PO ﬁ)ﬁgoéc} 2B?

Options :

Classical theory

Dolhoech Dorodo
1. % ) ¥

MNeoclassical theory

, 93 Jobordd wrrodo
2. ® [~



Discourse theory

_— &éﬂﬁéﬁj ?Jt:goéo

Behaviouralism
[@BBe a0t drposo
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Which one of the following is not true about the Public Interest Litigation (PIL)?
80B B [Her (HAres axego (PIL) HBod 2B S:)?

Options :

it was introduced in India by Justice P N Bhagavathi
B0 2HD H.AS.YPKBS (D P

any citizen can file it if he or she feels that publlc interest is being harmed
5 % DeelEiairasardd 3F 2hrHEKENE rOodd » THET HID en édﬁj&ﬁiﬁm

it can be filed to prevent misuse of government’'s power
BN (HEHE; @58 BIBRAPITY) BHEPNE Pen DeHBS)
w

it n:an be filed to prevent harm to private interest

4 {Dﬁmj (B8 2260 56%% Dartess @mﬁdﬁéiﬁm
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The coordinating agency of the Central Government in personnel matters is
Bols {Eéa‘bééoéﬁ vah aroar HEsforad Siididbo 30 ded) D
Options :

The Ministry of Personnel, Public Grievances and Pensions
nepob sgEitoren, (e Bapen 508050 DR 0o|B& Ty

The Ministry of Home Affairs
s ool8Sy Foge

UPSC
L, CErRADS 528 ShgH BKS

Cabinet Secretariat
55835 BSOS
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Which one of the following is the name used by the Constitution to denote the highest tier
of the governmentin India?
ersaE06: SRR igcaj REALY D6 oergolio der f)ﬁ”@p&?

Options:



Union
dordcha

Federation
SENVVY

Centre
Bolo

All the above

) DB

Question Number : 80 Question Id : 51714411953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The existence of the Legislative Council in a state largely depends on the wishes of the
2 m@o@ﬁﬁj FE5E0ED 608 B eprdHtd?

Options:

People of the State

_— ooy (Besen

High Court of the State
w2y
. o°g) B



Governor of the State
3 % U“élr ﬁéd&d}

Legislative Assembly of the State
UD@ GRS
“U/
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Which one of the following is not true about Gram Sabha?
806 BS° (rsudyl HBod DO Saa?

Options :

It is the general assembly of all the voters of a village

1 % =58 (md Hoordhd Jrgedes S

It is the executive committee of the Village Panchayat

5 B0 [ors SHowechd JAETBS Ené

People of the village who have attained the age of 18 years are its members
18 Soadéyoren DS [(rad (Daeolide A gfgen
3. %

It is the lowest rung of the Panchayati Raj
2 Howrahd oo 3555 Bng) 8od 08N
4, % = =
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Which one of the following is not true about the Constitution 73rd (Amendment) Act?
800 s oeegolf 738 (3:38es) Skyo D%H0%08° B $:?

Options :

It relates to urban local bodies
B0 HEes ﬂ-ﬁ;ﬁjé éhax08 HSo2ohodHe

It relates to rural local bodies only
38 (e %;K}é Selgad HowohodHH

It was passed in the year 1992
A2 19926° es3rBowedh

It provides for an organically linked three tier system
56 ®ofSorr HBYY Howoridhd Hrtode HHuk ao)én 3208
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The District treasury functions under the control of the
Bep (Beb 250 wfdos® HHTH0H?

Options :



State Government
o°g) ($ghe0

District Collector
Bex, ESED

District Treasury Officer
Ser (8330 @fsed

Chief Secretary
s0085 51365{5&&}
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The principal function of Directorates in the State Government is
oo (58H0E°0 FBgttne [Herd Y

Options :

Policy implementation

- PR ®snen

Rendering auxiliary services
. odbohE DdeobodEo



Policy formulation
. Ve BreDHBeni

Promotion of inter-agency coordination
. DD E‘.‘Jﬁéﬁb@ gy Deodyaird)) BoTroboihey
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Which Article of the Constitution of India empowers the Governor to nominate members of
Anglo-Indian community to the State Legislative Assembly?
oesoKo8™) &) @fES K5 o FRKRYE wolll mobahSet i K)géo 3o

obisToer) 88087
Options :

Article 239
239 @Qéﬁg

Article 267

, % 367 =885

Article 333
333 @bgd
3.¥ 2

Article 403
403 b8
4, % =
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The letter 'R’ in MGNREGA stands for
MGNREGA 55806°0 ‘R’ @80 80 drdiob?

Options :

Rural
dﬁé@(t{w.ﬁml

Rain-fed
5> % 08 2EETEroS)

Rurban
6@5

None of the above
2HNHP 50D
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A settlement in transition from rural to urban type in India is officially termed by 73
Constitution Amendment Act as

e8oes &% Hod Heyes B8 trakodido Bt Aerdd (Froerl) 738 Tramgort S558e
$80 20l Sofarnh?

Options :

Transitional Panchayat
5858 Howrahs

Nagar Panchayat

. BDRG Howedhe

Town Panchayat
0 Domechs

Both ‘B’ and ‘'C’
S0Bdin doth
4, %
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Which one of the following is true?
806 BS° Db a.a?

Options :

The term government is wider than governance
. K8 shon w3 S0 ataleNaY) K0&3 &@é @go E0A &ob



The term governance is wider than government

K390 ®a Heds ﬁéiﬁgﬁmm 08 5 @bo Sobd
24} [=2 - —&/ A

Both the terms mean the same
3 % s Botd Soren a8 @g{} DA BT0W

The term government is of relatively more recent origin than governance

ﬁéiﬁcﬁmm w3 550 ﬁéacla’nnj o0& Jnd @&@S&DE}D&
4. %
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What is true about the District Rural Development Agency(DRDA)?
Bep [raerdi)B B0 (DRDA) H80D 0b aiy)?

Options:

It is the bedrock for implementation and supervision of rural development and anti-poverty
programmes of the Central and state Governments
36 ol U‘J@ (Hghare [_rwﬁ]:}sa'ﬂe';}é;@ S065n H8HE0 E{)&T&&@aﬂ sedg(Eiire o

méﬂéaa@é) AR eTalA)
1.¢

It is the bedrock for implementation and supervision of rural development and anti-poverty
programmes of the Central Government only
= Sd00 B0 (&3ghesy [‘i“gbf;'&‘a&‘)e)% B0 HisB¥o Ameme siEre @i,

étﬁgﬂé&aé Dh J08HH



It is the bedrock for implementation and supervision of rural development and anti-poverty
programmes of the State Government only
ab EH00 Uﬂé by 1{?@)@%&@ $B6kn D50¥ Klti)éw setfgEihe eien

5’3653&9&@@ Db HodHb.

The administrative head of DRDA is the Chief Secretary
& SF AT . ot b -
. Ber [_rwmzaﬁéja’)ej% R0 SPOTHNS H1gy svégiﬁﬁgd-

Question Number : 90 Question Id : 51714411963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The Sixth Schedule of the Constitution of India deals with the administration of the tribal
areas in
08 Tramon) el ke & mé@fm@g@ Abed (aroare aleidd Hoaofodde

Options :

The State of Assam only
OO0 T°Ho Soe(Sad

1. %

The State of Meghalaya only

5 % s T30 Soo|$ah

In the States of Assama, Meghalaya, Tripura and Mizoram
3 @0, hgrodd, [BHE HHbcn hEdoo oelgpen

In the State of Tripura Only
4 % BB Togo Soe(eSeh



Question Number : 91 Question Id : 51714411964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

The chief exponent of Development Administration is

D08 et Sngrdod Sty
Options :

Edward Weidner
55 DegB

Goswami

ENEERAY

La Palombora
e° HeonTe

Herbert Simon
?‘.jntﬁgjg ‘;‘@éoﬁ
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Who, among the following, is not associated with ecological approach to the study of
Public Administration?

8od Bt (£4hesg areT TR0 etrohards 568 Somot ciejénj{;)vﬁcl ©N0080I00
D?

Options :
Robert Dahl
UDE.’CJE e
1. %
John Gaus
&P TP
2. %
Fred Riggs
- @& Bhy

Luther Gullick
» e KO8
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Fred Riggs substituted his ‘Agraria- Industria’ model with this model
@G BR) ‘Trgdaeons -ard|Eans’ Sarar 555065 & Hrard (Haarbortd

Options :

Industria model

aﬂééﬂvoné HEarae



Agraria- Transitia model
5 % TFDTFONE-HBHBS HSweae

Transitia-Industria model

. 5058 —arb|FeenE Hiurae
3. %

Agraria-Transitia-Industria model
4w sTgRaronE ~0H8E -aeB|FehE Sirae
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Droit administratif means

i - oS o
|Zromes @&ém{_'&éﬂar-
Options :

Administrative Law
HBaree ﬁt@:ﬁm

Administrative practice

5 % S8areT eS8

Common Law

SeEe e



Personal Law
a’:ufﬁn]éff e
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Civil Services of USA are classified on the basis of
DB HYS KB HOEED (@EAHHE

Options:
Positions
5;&?3-9)}

1.

Ranks
Uﬁﬁoéjm
2.

Specialisations
@’}é?sgér:ﬁaaeu

All the above
?Eé&&dﬁn
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The Ombudsman system was first established in
028500 B Tty IS AL tAvy

Options:

USA
1 % ®obse

India
mobdie

UK
=leTg{elah

Sweden
f&;ﬁéﬁ
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The Comparative Administration Group (CAG) was funded by the
SoTEE e gyotisin (Comparative Administration Group) £ @gé 2echo ©oBonkb

Options :

Rock feller Foundation
oeE 208 Frotas



Ford Foundation
56 oS

2. ¥

U.S. Federal Government

Db DEGS KEHG)Hotn
3. %

American Society of Public Administration
©DHOES T2 «f HE @&éﬁl@ﬁ!ﬁ
4, #
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Who said that as long as the study of public administration was not comparative claims for
a science of Public Administration would sound hollow?
(0heiy o TR eigohivo a’a)@me“_éééo 508008 (gheo e ) @@cﬁnéé& 208

0B00% NS 53 sokh o JdNt?
Options:

Herbert Simon

Robert Dahl
Uﬂmg o]



Fred Riggs

@& B8Ry
s

Chester Barnard
4w D80 2T
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Which one of the following is not a trend enumerated by Riggs in the comparative study of
Public Administration?
2k arerid HoTEE @Eﬁg@i)eéoeif’ Bh) ﬁ)ﬁ“&?ﬁ& emed’ 596 567

Options :
From nomothetic to ideographic

a0 Sﬁ@ﬁﬁé&éi’é Dol a8 gjﬁ(ﬁj”éééeﬁéj &80
1.4

From ideographic to nomethetic

. o &}ﬁcﬁﬁé@ﬁé 2008 D3 c"{}ﬁdﬁﬁégééé) vevy
5 ;

From normative to empirical

(D8rerrdEs ool efdlard)St ety
3. % d

From non-ecological to ecological
. HBL50SES 08 5658 Homorredd Avleh)
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Development administration is

K58 TP @Ib

Options :

Change oriented
, U))  eaERO6

Goal oriented
oF; 6iEHsd

Result oriented
Pz SEHRD

All the above
PSYOD
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Which one of the following, in the Indian context, is duly called the policy of Globalization?
808 TBE gr5SB3I8 Homodod [Hhodsks Jersomr B ﬁ)ﬁ”@p@tﬁj‘?



Options :

The Industrial Policy Resolution, 1956
B|FE D= Soesdn, 1956

1. %

The New Industrial Policy, 2001
a8 ard|FinE Dpriddn, 2001

The New Economic Policy, 1991

K8 ©B8 Dgresm, 1991
3.v ¥

The New Education Policy
R Doy Agrdan
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The expenditure charged upon the Consolidated Fund of India is

grie HosndE D68 anng Dohads et

Options :

submitted to the vote of Parliament
arPhotn @nE) shoedd Sinbyeh

submitted to the vote of Rajya Sabha

5 % T ©drrls DB



submitted for the sanction of the President
ooEH8 edrorls Ssh8)e
3. ®

not submitted to the vote of Parliament
FPotn earoedd Shbyosth
4. ¥
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What is not true about the Goods and Services Tax?
H Do D) (GST) HBod 26 &:)?

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

It isa successor to the Value Added Tax
20 Denarerdd Dy an) arSheo

It subsumes several taxes and levies
BV @IEDH Hnyen, BDen EDTJrow

It exempts Alcohol for human consumption from its purview
S50 DAAFTEIE a6 ey (Alcohol) B 58 Hod Snowdh



None of the above
2EDSHP 5o
4,
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What is true about the Fiscal Responsibility and Budget Management (FRBM) Act?
@gé earamrdEto Hdcm 2gtn AKGS S4o Dhohost o 2ua)?

Options :

It aims to introduce transparency in India’s fiscal management systems
S0 ©BE Ve JESHS’ ab FEEGHESD B31epsd 6580D0s

o
]
1. %

It aims at bringing fiscal discipline, efficient debt management, and macroeconomic

stability

30 o8 Edgendn, SnddodDhd anes Ve Db Sre ©bE S MdEd)
] Ak @ = @ G @

[A]
FBoHEG ag%oaea

It aims at maintaining better coordination between fiscal and monetary policy
=l @gé B (B35 Derare s HBRD HEairdy FeH0HeE é@%oﬂo&

All the above
2k
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Which one of the following is not true about public enterprises in India?
808 sBEP (535308 Boll Soeld HBod B &3)?

Options :

They are partially or fully owned by the government
@8 %ﬂgécrwl%s r0reS 2gha=D8 b

There are different types of public enterprises such as departmental undertakings, public
corporations and government companies

FHod aEdrem, P8 B0, K58)Motn oale Ho Hudrared® @ sotran

There were no public enterprises in India prior to Independence
v ‘%vééo[;aﬂgﬁg SelNe eS0T 28Dy Bor ﬁo:g@:: k)

The number of public enterprises is on the decrease
(2ghés Boil ‘sf:uof@:@ Logy SHrvéEr 600
4., ®
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The First Industrial Policy Resolution of India was issued in the year
PSSR0 &0 BT Do @Uﬂgaaém & JonSo dhie ©onod



Options :

| w1947

1948

1954
3 %

4 % 1956

Question Number : 107 Question Id : 51714411980 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
Which one of the following is not true about the NITI Aayog?
H8 e@rh Jo2080D od +BEF 06 S3)?

Options :

It was launched in 2015
00 20166° I ey

It was set up as per the provisions of the Constitution of India
» 00 grES Tremgolio (HE%eme DB QT™)ED 33

It replaced the Planning Commission
b (Herdise Hogoo 5526065 SHNobd
3. %



It is a policy think tank of the Government of India

©b B0l [Hghey Dped B0 eroE (Think tank)
4, =
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India follows the policy of

el Tnl:le) 0005 Do derdo

Options :

Progressive Taxation
558 8e Qe AGrHo

Proportional Taxation

5 % Sa88 Sy dgrdo

Regressive Taxation
A5 enE adye dgedo

none of the above

4 % 2BDSHE 50
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Which one of the following is not the function of the Finance Commission?
8ob 7BS® PR EDAS DO =26 26?

Options :

Distribution of proceeds of taxes between the Union and States

- S @G‘*Cﬁﬂ?&&éﬂ@ oolepe S DohEo Sosnes

Determination of principles which should govern the grants-in-aid from the Centre to the
States
5 % Bol%o Hod aped E{}Zﬁj D08 (rotne (@R8H6E Adbire Qoedes

Consideration of new items of revenue to be allocated to States

m@g@éj BEranoSHeD Sr8d esordd EﬁJDUgE) 588
3

Any other matter especially referred to the Commission by the Government
BT (58080 VBB @ B8SY (HeEE wodo wanar
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The law that ceases to be effective after a specific date is called
2.8 003 86 SHhars 85 30 St B Denrd.
(AT ] it [ ] —H
Options :

Sun -light legislation
H-88 B0



Sun-set legislation

| S5 [rosgsab Sio

Transitional legislation
e et =
Lobsren) P60

3. %
Informal legislation
eroSHES Seao

4. % i
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Whose contribution to industrial relations has been termed as ‘cow sociology'?
PODE Sonogred) HSomofod JH8 @rirrd) T PFudired’ e %5“&@&&53?

Options :

Chester Barnard
356 oo
[+ oL@

Herbert Simon
fmﬁgg ?@5’1}5

Elton Mayo
3 o O9S D



F W Taylor
4 % 0. Eaps Beob
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The statement that the "Company form of public enterprise is a fraud on the Indian
Constitution” relates to

“$ond S8 33Hh&Bor ;ﬁof@; gri8 oremgorrds 3% Feh0” ©f [HEBoDHH
Options :

Paul Appleby
| TS 06D

Chhagla Commission
oo EEEAS

Ashok Chanda
v eS8 Sowe

Morarjee Desai
Sooed Baedo
4. % )
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The Public Corporation is
298Dy =eBNDRS

Options :
Accountable to Finance Ministry only

PR QB Sr(ah amtisd Bekyos

Accountable to Cabinet only
A HEEDH ariiss Hirdnod

2. ®
Mot accountable to Parliament
Y0t areiss Horolth
3_ W

Accountable to Parliament
4 P0tnd) argly Harinob
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Who has said that “officials make work for each other” ?
“63555:"{3@:: E’Jﬁ?’jﬂ]ﬁﬁo D é&}\uoeﬁ}éjoésﬂdj” e @5&6&’36:?

Options :

Peter Drucker
566 (a3:79)



Ramsay Muir
orm Soeb

Morthcote Parkinson
TBE%S arB)SHS

Herman Finer
?’maﬁéﬁ f;‘.géﬁ
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SC/ST seats are reserved in Panchayats on the basis of
SowrahBeod® SC/STe Lo Bty g wgrdore DB ownkd

Options :
Population
1, v TG
Area
3o
2. %

Both population and area

S, x BT HoBdsn (HB¥o

4, #



MNone of the above
2BDSHP 50D
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Grouping of activities and resources in an organization is a function of
2.8 Eﬁé&%@ﬁé{} Hiern HdHed (rdenrr Dand ser henardh

Options :

Leading
POHES

Organizing
E.‘Jéa‘;ﬁaéﬂﬁeag
[]

Coordination
?f‘rﬁ'ﬂ){\"ljé(:ﬁjﬂ

Monitoring
536:555&
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Which of the following is a not a feature of good governance?
808 78S Hbred Ging) efpmo 5208 b ?

Options :

Accountability
235PENTPDSH0

Transparency
ﬁéé%éé

Rule of law
Erd e er (Shaegah Jred)

Confidentiality
esossbonEs
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Which one of the following is a principle of social welfare administration?
806 B HB Jrodnk F’Jogéj ared Dohsvo?

Options :

Individualism

. aﬁﬁ%miﬁo
1.



Self-reliance
Sifenle éaijej%

Personal responsibility

L x DSBS e

Social justice
4, FETRE Tcho
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Which government is responsible for social welfare administration in India?
arSSaE0s? otk ;ﬁega‘u oD oot Hp0R0 & (eigoeo?

Options :

Union Government
dhrRoha (BH4hsko

State Government
D’}é {z.ﬁa'bééo

Local Government
ﬂg?i}é [9gHheo

All of the above
?ﬂé&&ﬁﬁ)}
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What is the primary source of funding for social welfare programs?
JPoan¥ ﬁo?icﬁ} segEares e Heed dreo b ?

Options :

Corporate donations
. a‘.-véci‘md "nﬁo:g@ SoeEren

Individual donations
“ aﬁﬁﬁé Sorgeen

Government taxes
s1dDeico 9D
v (2080 20 nen

Private foundations
@3&5 @“Déﬁ% BE Eﬁué%éﬁé HoHen

4. % B
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Match List =I with List =l and select the correct answer from the codes given helow
8687 58 Sxirerard) Qo erflen— ) erfler— (I8° axshhdin.

List -1 List =11
erblee— | ertlar— |
(@)  Yehezkel Dror (i) Mixed Scanning Approach
@28s (b Ehiged R0k BgyFo
(b)  Amitai Etzioni (i)~ Normative Optimum Model
oherdD JBGPH mﬂgé&% SR
(¢)  David Truman (i)  Governmental Process /Group Theory
a6 (S (2eds D18/ (KD drpodo
(d)  Vincent Ostrom (iv)  Public Choice Theory
it oo St e
8J)08) elzo VA pamgoéo
Codes:
&6y
Options :

1. % (@)= (v) (b)-(ii)) (c)-(i) (d)- (i)

5w (@)=(i) (B)-(i) (c)-(iii) (d)-(iv)

i (@)= (iii) (b)-(iv) (c)- (i) (d)-(i)
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Organizations that pursue the common interests of groups of people by attempting to
influence the making and implementation of government policy are known as
He &é}&& ParETof sarthig [B3heis Deed BB ok efenth (Hegrddo

SE e s DS
Options :

Political parties
orasdah cﬂvém

1. %

Interest groups

) o esp Seoresen

Lobbyists
ed)cnnidoen
3. % =

Policy communities
4 % OGER Jdreren
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The theory assumes that governments will be influenced by various interest groups and
will not be biased for or against any of those groups is called
(ghdsm R I8 Sres’ (HerddiPiod 0 H88° o a8)rl8 wd&rooms? (58

&roomes DEarsin SOR tokth ol P03 ”amgoéa’m B
Options :

Rational choice theory
'ﬁ]ﬂéaeag o ?@}E‘g@e‘ﬁcfm



Institutional theory
:‘:’JDQS ?}m;oéa’m

Pluralist theory
AN é’fm;oéa'm

Marxist theory
SrB)y LTrodin
., &) G
4, *®
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During which part of the public policy cycle does the government explore potential policy
responses?
(e Diged S8 & 888 Heheko dgrarod dero Hotked ddatr e

gheo 56805067

Options:

Agenda Setting Stage
NE=leln ?JD;E’)E@ ]

Policy Formulation Stage
e BEroHtend &4



Policy Implementation Stage
e @snen HE

Decision-Making Stage
DBoorEdes &
4, %
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Administrative accountability is secured in government organizations by this branch of
government
(ghek é5é§@ PO 002088 aauanmééanéﬁg gheo Ging) & g FHI0H

Options :

Executive Branch
SO TS F°8)

Legislative Branch
FODN Ao T8

Judicial Branch
Tg0H 3oy

All the these
?’gé&‘aﬁﬁm
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Marxist analysis of public policies basically advocates
2980y e Sjmﬁsatﬁﬁ aSPE@K)Ju tﬁgéﬂjtﬁo BID Hrdsnd grarnob.

Options :

Systems analysis
aﬁg}aﬂgm DBee

1. #
Class analysis
58 HF%es
2. ¢
Process analysis
5 x B(BaD BAes
Cause and effect analysis
5o -5r0es DoR0E DFaee
4, ®
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Which theory assumes that citizens are self-interested actors whose decisions fulfil their
own needs and wants?
o S esiorod S680dh SiFS wah FHares si8Nhon o) O berodhn

@
grdnot?

Options :

Economic Theory of Democracy
sBEHEHS (DHereaeeay MErodamn
@ e = @

1. %

Managerial Theory
oresE TPosasn
2.%  ° :

Rational Choice Theory

rehad JohE Horodsdn
3. o [A] [A)

Pluralism Theory

CAPOLYL T I T ALTO LI TA VY
4, % S
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Which one of the following was not identified by the Santhanam Committee as a major
cause of corruption in India?

808 B Somdo S8 BN ©DIBB 2.8 (e sBmore HB0SBH?

Options:

Administrative delays
. PO PR



Scope for personnel discretion in the exercise of powers

©Hse80 DI@TACSE oS 3581 DSE edsedo
2. %

Cumbersome procedures

EPoBatorntd Htdnen
3. % ©

Absence of regulatory functions of the government

. (3gha=d8 Bﬁ}gééﬁ Desen BEDEDEO
4. v o
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Which one of the following leadership styles was identified by the Michigan University
Leadership Studies as the most effective leadership style

DHAS DEDmegocho wrahison wbhd $68¢Ken Bob BE & wobsd 30
955508 Hi5e Bomyon?

Options:

Democratic style leadership
(Seeamgng Trahisy 30

1. %

Employee-centered leadership style
&8 A-Sol8E arahBsy 3D
2.9

Participative group leadership
il aing a0l rahEs 30
3. %



Team leadership style
L gyots rahEso(Group leadership) 20
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How many seats are to be reserved in the Lok Sabha for women as per the Constitution
128" Amendment Bill ?
&3’ Mirfotd ) e Bety Josoéss 1285 oramoK H88es ey

HEL Y

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

Twenty percent of total members
S0éso %m@i Ba Feso

One fourth of total members
Snéo ﬁ;m@i Soeéoty a8 Hok

Half of total members

Swdo araed’ B0
3. "



None of the above
2 &S 08 =th
4.
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Match List = | with List - [l and select the correct answer from the codes given below
HBEHS E0i Q0B e |, erder- Il o ad5hdin,

List =1 List = I
epdla— | epdla— ||
(a)  Parliamentary Commissioner (i)  France
aFgotrd &b g5y
(b)  Administrative Courts (i)  Russia
aPeP Eﬁfﬁam 6&105}
(c)  Ombudsman (iii)  Britain
lelaltis) RS
(d)  Procurator System (iv) USA
@ﬂé&é&ﬁ DS OV
@
Codes:
é{’Er:,:
Options :

L w @) (B)- (i) (c)- (i) (d)-(iv)

5 x (@)-(v) (b)-() (c)-(iii) (d)-(ii)

(@) - (ii)) (b)- (i) (c)-(iv) (d)- (i)

(@) - (ii) () -(iv) (c)-(iii) (d)-(i)



Question Number : 132 Question Id : 51714412005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Choose the sentence that best exemplifies the philosophy of the Cabinet form of
government.

SgE)e) SEF (ghes éﬁ&’)"éé} 806 mwﬂg@eﬁﬁ b armre H05ESH0B?
Options:

A plan for reducing criticism of the government, whose obligations are complicated and
difficult to carry out to every one’s satisfaction.

(cghed ertigsen §fﬁom, égorw 608560 H8 ©oHBA éﬁg&)’éfﬁtﬁo é@ﬁj SV
19801 DHGDH SRoDEB 2.8 FFESorr 50P508

A mechanism for accelerating the government's activity, whose daily duties are growing
2gheito aing) BRob e bHE) ?c‘ié(ﬁgoéﬁ (2gheio aBng) I BB weSHo

A parliamentary democracy process ensures the government’s collective duty to the
people
(Beheko (See Sty &) Hing) areSH ABoHe aPBH000 [Herawiy HIBH

FuEroor Gotnod
3.¢

A mechanism for reinforcing the hands of the government's leader, whose grip on the
people is eroding
Weep (Hgherd Tahin) é&nm RSendiy) 33’3:55065 o83 800 FD F&H0

4. %
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Which one of the following is not a characteristic of the Indian government?
80B 7B arddn gheio Ging) ofpo s A?

Options :

Constitutional government
oively mtg 5800

Democratic Administration
shezeadqEnE (H4heko

Based on Rule of Law
Do aredR eerdnds (Hibdo

Authoritarian Government
QB0HE (Hhesgo
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A public servant may face disciplinary action on the following bases
($5508%AD Bob arBSE° O (FrEHHES B8 S8 S8 058)?

(i) inattention to duty (if) inefficiency
Ao D& @@g @‘;ﬁa‘mgé
(iiiy  insubordination (iv) il health
©OPHS @mﬁﬁﬂso
Codes:
Options :
1 (0 (), (i)
(i), (iii), (iv)
2. #®
g % (D). (V)
(1), (ii), (iii), (iv)
4. %
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Which words were not there in the Preamble to the Constitution of India that was adopted
on November 26, 19497

265 $doad, 1949 th e:drHod grdd wemol 5686° wth 89 Sween DD?

1. Socialist 2. Secular 3. Sovereign 4. Republic
Ao &°88 artio 8aErEd aneadiolsam
Follow the code to find the right answer.

Options :

1 % 1.2and 3



2. 3and 4

2.5{-3
3 % 1,2and 4
4'¢1and2
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Which one of the following is not a feature of good governance?
808 786° HHBreS ofmo =6 J6?

Options :

Accountability
1 % 2EPIER0SH0

Transparency
cﬂ“fﬁtﬁ%éé

2. %
Rule of Law

3 % DDTFEAD PO

Rigid Procedures
e (rigid) seSgderaren
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Which form of government structure does India’s Constitution provide for?
FeBS TramgoliEn o) BEDS (D4he 5’3@@:‘{3 QTYE0 32087

Options:

Unitary
DESolESE g 3

Federal
SV 55-555;3

Parliamentary
Evgevialnta 5858

Presidential
Slale=Y {}5&65@:
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If the President wants to resign, he/she shall address his/her letter of resignation to the
o8 &8 6508 o Datrotibof) &5 ordamie Heed) 268 SnByomD?

Options :

Chief Justice of India
?m@o%ﬁﬂjjm DD &R

Prime Minister of India
S5 sholB8

\Vice-President of India

D
3 ¢ ﬁ@mﬂaﬁmﬁé%

Speaker of LokSabha
&6 E}Jéiﬁné}
4, %
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Which of the following is not an All India Service?
80B 7BS° wdo s 36 =208 0H?

Options :

Indian Foreign Service

| B0BaHS S B

Indian Administrative Service
8 o GOD
2. %



Indian Forest Service
. mo0b&dhe J—JEBE ﬁéﬂgﬁn

Indian Police Service

4$3mﬂ:n o
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Assertion (A). Methods of legislative control over administration in a parliamentary system

are different from those in a presidential one.

BBEFES (A) FEhowd SN ey TS Ty T dabogn SsHer ey
ééé?géﬁé‘\) Adho|#es .‘;’Jgéﬁms‘é} Pore sotrom.

Reason (R): In the presidential system of the United States, powers of administration are
vested in the President.
5 (R) o606 N &%é’% égé@@ﬁ arofsto ©fghl8 sialod.

Codes:
555[3:
Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A)obBcdSn (R)Botir a.sy) snddin (R) 038 (A) HBG0E DdBes

1. %

Both (A) and (R) are correct, but (R) is not correct explanation of (A)
(A)oBasn (R)Bor 2y s (R) w38 (AR DBaHE DV 50D
2. ¢



(A) is true, but (R) is false
(Ao 5o (R) 8
3 %

(A) is false, but (R) is true
. (A) 85 520 (R) 2w
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The research that focuses on a process of sequential reflection and action, carried out with
and by local people rather than on them is called
ﬁgﬁé Beos® Hdak %;R?Jé Bee B¢ SrED =0 ﬂéﬁlé e SoldBoskom Sthdm

985 5bafn Jt5(action)e EHos® T H68%H B
Options :

Participatory research

_— gpeiegEngasoes 5088555

Conventional research

| o Booad $68%S

Experimental research
@’::-cibvrwééé $568°%5%

Exploratory research
&ﬁg&.ﬁ,&aﬂe‘_ﬁéé 588858
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The major attribute of Correlation Analysis is

it wt

Qe DODOL aﬁﬁaﬁm Sy OO0
Options :

Association among variables

» Jorodre (variables) g SeStso
1.%

Difference among variables
. Sorodre HEER HgEdo

Regression among variables
Sorozre Fgid B8 KvBo(regression)

\Variations among variables
Sorode g S0
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The conceptual framework in which the research is carried out is called
Faloleati) DRerodtels Sirodi graTd) J(éxy)(conceptual framework) s SENTD.

Options :

Synopsis of Research
58808 e 2085

Research Paradigm
58855 rERS

Research Design
5685500 (e P

Research hypothesis
5888 DBBe
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Which one of the following is the first requirement for pursuing research?
588%% Dot (Bod B &0 e3EES 26?7

Options :

Developing a research design
5685500 (HeTe P GreahEentd



Deciding about the data analysis procedure
, x Go20d AT 5B oedes

Formulating a research question
568550 25500 E}Dgiﬂea

Formulating a research hypothesis
588580 B8NS Joebes
4, % "
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Which one among the following statements is not true about participatory research?
gt Eigaing 5885558 Homobod) od B 08 g7

Options :

It recognizes knowledge as power
=) @;36?33 S8V PAnod

It is a collective process of inquiry

, o 30 Oy P HBaD

It emphasizes people as experts
26 (Ded) Jeheaenne grainob

Its sole purpose is the production of knowledge
82 2828 ﬁéégo ﬁﬂﬁsé%@
4. - = 5
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What is the correct order in which the following research activities take place in scientific

research? Answer by choosing the correct code:
PR 58855 Edod® (Bobd S50 o) HD €508 athibaran? KBS Bt

2OHE Sam.

(i) Formulation of hypothesis (i)  Problem selection
HB8e)S Erasayd 2505 o

(liiy  Generalization (iv)  Collection and analysis of data
o5y BEsm B8 b S0 Siwards, e

Codes:

8y

Options :

a- (i), b- (i), c- (i), d-(iv)

2. v a-(ii), b-(i), c-(iv), d- (iii)

a- (iv), b- (i), - (i), d- (i)

4 % @ (i), b-(iv), c- (i), d-(ii)
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Which technigue is generally followed when the population is finite?
HBME exrgr S Berod VEBHD Ferdnore & HESR SHAPATD?

Options :

Systematic Sampling Technique
| @ Igiéjeacg@_ﬁé Sdrar oS, ég@

Purposive Sampling Technigue
. ﬁé%{ﬁg 88 Waear sﬁtge'_“a

Area Sampling Technigue
ErO8E S HES
3. %

None of the above
2BDSHE 50D
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How is random sampling helpful?
ArE)NE Hshrar der GITFRDEDEH?

Options :

1.



It is reasonably accurate
. ad Hareh¥orr Hhoesddn

It is an economical method of data collection

238 0¥ DESHDH Drpd HES
2. ® - - =

It is free from personal biases
&ast eéaggrﬁé éiﬁv@ﬁjg o) OLS L0

All of the above

DN
4. =
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Longitudinal approach to research deals with
DBEDT FAD $68%55 (longitudinal approach) D8 Ho2o0HodHH

Options :

Long-term research

B8sD¥E 588555
1.¢ %

Lengthy research
fm&{gj 508%5%
2. ®



Horizontal research
e$HB HB8%SS
3.8 ©

All the above
EhRleny

\I
4, ® =
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Authenticity of a research lies in its
H885H Do) FHBES HBID wErSDHE G0oEDOB.

Options :

Objectives

| % OES®

Objectivity
5 mﬁéﬁdééﬁ@;’}iﬁé
Originality
L sogd
3. % o

All of the above

L DO



